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1. 2RI REEE (A HVE 380)
(HAL T, %)

BT R AT AR W 4 B R

— fi% e 5 62,160,000 67,089,260 A 4,929,260 A 7.3
B E Kk B 12,280,000 12,116,050 163,950 1.4
A S 8,408,500 4,095,060 4,313,440  105.3
2o A =¥ 277,900 271,600 6,300 2.3
P € I % 5,886,700 5,774,450 112,250 1.9
N (PR B+ 2 B) & ) 4,713,100 4,637,120 75,980 1.6
Irit—e 2 FELE) 1,173,600 1,137,330 36,270 3.2

e W s W # E R 889,000 768,700 120,300 15.6
7N 7t 27,742,100 23,025,860 4,716,240 20.5

a %A 89,902,100 90,115,120 A 213,020 A 0.2
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2. — X:I:. n+%
1) % A

(1) H 19 B (A X 30
_ (A7 FH. %)

X N ?EE%%E%%%}J%% ﬂ?ﬁjzgg%&*%%%%% E7 _ B
T A OB MR | T B BR[| O B | HEEEE
5 Bi| 37,751,240 60.7| 36,577,620 54.5| 1,173,620 3.2
o 5 E 5 B 305,600 0.5 311,500 0.5 A 5,900 A 1.9
5H 7 B R & 83,300 0.1 101,700 0.2 A 18,400 A 18.1
6B 4 # 2 f & 71,800 0.1 104,160 0.2 A 32,360 A 31.1
17 PRAEGEIE TS HIA T4 26,900 0.0 26,900 0.0 — —
18 #h 7 H & Bl &2 T 4| 1,809,300 2.9 1,791,300 2.7 18,000 1.0
25 H B) 1 15 fl &2 AT & 112,100 0.2 85,600 0.1 26,500 31.0
20 M 5 KF B R O & 126,300 0.2 424,400 0.6] A 298,100 A 70.2
0 5 & fF 0 Bi| 2,114,730 3.4| 5,677,450 8.5|A 3,562,720 A 62.8
35 é&l_zr KR RERIZZ A4 20,000 0.0 22,000 0.0 A 2,000 A 9.1
i N G O = W < 818,260 1.3 743,810 1.1 74,450 10.0
45 {% MR & O F Bkt 1,892,480 3.0] 1,830,650 2.7 61,830 3.4
50 B X W 4| 6,365,070 10.2| 9,288,460 13.8| A 2,923,390 A 31.5
55 U X H 4| 3,263,350 5.2| 3,357,070 5.0 A 93,720 A 2.8
60 S PE Y Al 205,010 0.3 196,430 0.3 8,580 4.4
65 % Bff & 3,120 0.0 204,370 0.3] A 201,250 A 98.5
70 o A 4| 2,985,480 4.8 1,037,230 1.5 1,948,250 187.8
75 ok el & 700,000 1.1 987,020 1.5 A 287,020 A 29.1
80 & Y Al 2,133,260 3.4| 3,750,490 5.6{ A 1,617,230] A 43.1
85 i f&| 1,372,700 2.2 571,100 0.9 801,600 140.4
= & 62,160,000/  100.0] 67,089,260|  100.0[ A 4,929,260 A 7.3
(2) AL ELH B (A H I 30
(AL TH., %)

X N ﬂ?ﬁi%ﬁ%&f%%ﬂ?ﬁ ﬂ?ﬁiggﬁ&fa%%%%% E7 _ B
T B R | AL | T B O | MR | B O B | HEECE
& A | 15,427,920 40.9| 15,669,570 42.8] A 241,650 A 1.5
[if] B Bil 5 AN 3,736,230 9.9 3,559,900 9.7 176,330 5.0
AN EF] 19,164,150 50.8| 19,229,470 52.6| A\ 65,320 A 0.3
E ' pE Pl 17,541,840 46.5| 16,268,400 44.5 1,273,440 7.8
LS H )N o 49,750 0.1 49,750 0.1 — —
i} - X 2 Bi|l 923,500 2.4 964,800 2.6] A 41,300 A 4.3
A i i 72,000 0.2 65,200 0.2 6,800 10.4
=) & 37,751,240  100.0| 36,577,620  100.0] 1,173,620 3.2
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(1) B 19 B (A FD T )
(AL M. %)
% 4 Rk 2447 FE Y )1 L SRR 2 3AE ks T A ke #Z
T A R | MRk T OB OB | AERUE| R O B | HEEEER
5 i = # 389,220 0.6 406,850 0.6 A 17,630 A 4.3
10 #& % | 8,674,740 14.0| 9,555,730| 14.2] A 880,990 A 9.2
15 B A4 #l 21,410,210]  34.4| 20,395,290 30.4 1,014,920 5.0
20 f# e #| 6,307,670 10.1] 6,517,320 9.7/ A 209,650 A 3.2
25 = W K PE X B 17,580 0.0 19,800 0.0 A 2,220 A 11.2
30 PH T # 741,620 1.2 732,680 1.1 8,940 1.2
35 + ZS # 5,775,990 9.3| 6,304,100 9.4 A 528,110 A 8.4
40 9 %] | 1,909,740 3.1 1,975,230 2.9 A 65,490 A 3.3
45 # 5 #| 10,840,910| 17.4| 9,023,080 13.4 1,817,830 20.1
48 6 #=E 1B | 1,999,480 3.2 7,958,630 11.9] A 5,959,150| A\ 74.9
50 2 & | 3,992,840 6.4 4,100,550 6.1] A 107,710 A 2.6
55 T fi # 100,000 0.2 100,000 0.1 — —
= it 62,160,000[ 100.0] 67,089,260| 100.0| A 4,929,260 A 7.3
(2) M & #l (A FDIE 3)
_ (AL T, %)
X N ﬁ?ﬁi%ﬁ@f@é’n%ﬂ?% ﬂ?ﬁi%ﬁﬁj}f%%f% 3 _ e
T A OFE | MRkkb] T OB OB (MRS MR R B | HEEEER
1 A 1 #| 12,328,815 19.8| 12,470,040 18.6] A 141,225/ A 1.1
ET B #|  9,806,654| 15.8] 10,031,974| 15.0| A 225,320 A 2.2
RIF/N & # 3,992,840 6.4 4,100,550 6.1 A 107,710 A 2.6
FHEMRE (1~3)] 26,128,309 42.0] 26,602,564| 39.7| A 474,255 A 1.8
4 ) 1 #| 17,663,424| 28.4| 16,809,393 25.1 854,031 5.1
5 FoOom B B 793,723 1.3 697,934 1.0 95,789 13.7
6 fili B # [ 3,981,685 6.4| 5,142,086 770 A 1,160,401 A 22.6
BE MRk (1 ~6)| 48,567,141  78.1| 49,251,977| 73.4| A 684,836 A 1.4
7 FH VA 4 339,266 0.5 406,940 0.6 A 67,674 A 16.6
8 & M N & & E T4 479,080 0.8 582,280 0.9] A 103,200 A 17.7
9 t 4| 5,585,157 9.0 4,344,004 6.5 1,241,153 28.6
o & B & | 7,089,356 11.4| 12,404,059| 18.5| A 5,314,703 A 42.8
NI @ & % F ¥ | 5,089,876 8.2 4,445,429 6.6 644,447 14.5
PN (4 B 711,852 1.1l 1,232,577 1.8] A 520,725 A 42.2
2R | H M| 4,378,024 7.0 3,212,852 4.8 1,165,172 36.3
SR #= #H H | 1,999,480 3.2| 7,958,630 11.9] A 5,959,150 A 74.9
11 ¥ T E 100,000 0.2 100,000 0.1 — —
=) & 62,160,000[ 100.0] 67,089,260| 100.0| A 4,929,260 A 7.3
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